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1 Someincorrectly rendered text
\ docunent cl ass[ 12t , adpaper]{articl e}
\ usepackage(ti nes}

% AM: 210 x 297 nm

% neasur enent s start a lin/lin

% 2cm 17cm  2cm

\textw dt h=17cm

\ oddsi denar gi n=2cm \ addt ol engt h{\ oddsi denar gi n}{ - 1i n}
\ evensi denar gi n=2cm \ addt ol engt h{\ evensi denar gi n}{ - 1i n}
% 2cm 25.7cm  2cm

\text hel ght =25. 7cm

\ headhei ght =Ocm

\ headsep=Ocm

\ t opnar gi n=2cm \ addt ol engt h{\ t opnar gi n}{- 1i n}

% \ertica al i gnnent in tabuars (requires array)
\ newcol unmt ype{ V} { >{ $\ vcent er\ bgr oup\ hbox\ bgr oup} c<{\ egr oup\

\ newconmand{ \ next page}{\ begi n{ sol uti on}\ cl ear page\ end{ sol uti on
\title{Test}

\ dat e{\ t oday}

\ aut hor { Mit t eo Qrti  <matteo.corti @cmorg>}

\ begi n{ docunent }

\naketitle

\ sect i on{ Sone incorrectly rendered text}

\ begi n{ ver bat i i)

egroup$} }
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